


1www.teknorot.com

APRIL’ 18

GMC

Weight : 670 gr.  B (Bolt metric) : M14X1,5   C (Housing Metric) : M16X1,5  Lenght: 323,5 mm.

ADAPTABLE FORTEKNOROT REF NO  CH-232

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TERRAIN 1st Gen 2010-2017 FRONT 19207056

CHEVROLET

Weight : 502 gr.  B (Bolt metric) : M14X1,5  C (Housing Metric) : M12X1,75  Lenght: 97,5 mm.

ADAPTABLE FORTEKNOROT REF NO  CH-931

STEERING TIE ROD END

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

LUMINA 2nd Gen 1995-2001 FRONT 26062163

Only
1998-2001

ELECTRIC
TYPE

ELECTRIC
TYPE

CHEVROLET

Weight : 670 gr.  B (Bolt metric) : M14X1,5   C (Housing Metric) : M16X1,5  Lenght: 323,5 mm.

ADAPTABLE FORTEKNOROT REF NO  CH-232

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EQUINOX 2nd Gen 2010-2017 FRONT 19207056



2www.teknorot.com

APRIL’ 18

DODGE

Weight: 488 gr.  B (Bolt metric) : M10X1,25  Lenght: 288 mm.

ADAPTABLE FORTEKNOROT REF NO  CR-320

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

DART PF 2013- FRONT 68164037AA

CHRYSLER

Weight : 488 gr.  B (Bolt metric) : M10X1,25  Lenght: 288 mm.

ADAPTABLE FORTEKNOROT REF NO  CR-320

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

200 2nd Gen 2015- FRONT 68164037AA

FORD

Weight: 588 gr.  B (Bolt metric) : M16X1,5

ADAPTABLE FORTEKNOROT REF NO  FO-1050

SUSPENSION BALL JOINT

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXPEDITION 1st Gen 1997-2003 FRONT LOWER
F57Z3050BB - F5TZ3078A

F5TZ3079A - K8695T

4WD



3www.teknorot.com

APRIL’ 18

FORD

Weight: 588 gr.  B (Bolt metric) : M16X1,5

ADAPTABLE FORTEKNOROT REF NO  FO-1050

SUSPENSION BALL JOINT

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

F-150 10th Gen 1997-2003 FRONT LOWER
F57Z3050BB - F5TZ3078A

F5TZ3079A - K8695T

4WD

RWD

RWD

FORD

Weight : 860 gr.  B (Bolt metric) : M14X1,5  C (Housing Metric) : M18X1,5  Lenght: 225 mm.

ADAPTABLE FORTEKNOROT REF NO  FO-571

STEERING TIE ROD END

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

EXPEDITION 1st Gen 1997-2002 FRONT INNER 2L3Z3A130CA

FORD

Weight : 860 gr.  B (Bolt metric) : M14X1,5  C (Housing Metric) : M18X1,5  Lenght: 225 mm.

ADAPTABLE FORTEKNOROT REF NO  FO-571

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

F-150 10th Gen 1997-2003 FRONT INNER 2L3Z3A130CA

STEERING TIE ROD END



4www.teknorot.com

APRIL’ 18

Weight : 860 gr.  B (Bolt metric) : M14X1,5  C (Housing Metric) : M18X1,5  Lenght: 225 mm.

LINCOLNADAPTABLE FORTEKNOROT REF NO  FO-571

STEERING TIE ROD END

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

NAVIGATOR 1st Gen, UN173 1998-2002 FRONT INNER 2L3Z3A130CA

Weight: 464 gr.  B (Bolt metric): M14X1,5  C (Housing Metric): M16X1,5  Lenght: 218,5 mm.

FORDADAPTABLE FORTEKNOROT REF NO  FO-683

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

FUSION 2nd Gen 2013- FRONT DG9Z3280A

RWD



5www.teknorot.com

APRIL’ 18

Weight : 5052 gr.

FORDADAPTABLE FORTEKNOROT REF NO  FO-808

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

Weight : 5052 gr.

FORDADAPTABLE FORTEKNOROT REF NO  FO-809

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRANSIT CONNECT II europe made 2013- FRONT LEFT DV613A424AF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRANSIT CONNECT II europe made 2013- FRONT RIGHT DV613A423AF

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 524
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF DV613A423AF - DV613A424AF

SB 1082
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
 PART OF DV613A423AF

FO-804 BALL JOINT
FRONT RIGHT 

LOWER
PART OF DV613A423AF

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 524
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF DV613A423AF - DV613A424AF

SB 1082
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
 PART OF DV613A423AF

FO-805 BALL JOINT
FRONT LEFT 

LOWER
PART OF DV613A424AF



6www.teknorot.com

APRIL’ 18

FORD

HONDA

Weight: 463 gr.  B (Bolt metric): M14X1.5  C (Housing Metric): M18X1.5  Lenght: 195 mm.

ADAPTABLE FOR

ADAPTABLE FOR

TEKNOROT REF NO  FO-860

TEKNOROT REF NO  H-463

SUSPENSION STABILIZER BAR LINK

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CIVIC X(FC) 2016- FRONT 53521TBAA01

USA Market

B (Bolt metric): M12X1,75  Lenght: 347 mm.

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRANSIT V363, europe 
made 2014- REAR 1849811 - 1810747



7www.teknorot.com

APRIL’ 18

HONDA

Weight: 467 gr.  B (Bolt metric): M14X1.5  C (Housing Metric): M18X1.5  Lenght: 196,5 mm.

ADAPTABLE FORTEKNOROT REF NO  H-473

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CIVIC X(FC) 2016- FRONT 53521TEAA51

HONDA

Weight: 718 gr.  Lenght: 82.6 mm..

ADAPTABLE FORTEKNOROT REF NO  H-554

SUSPENSION BALL JOINT

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V III 2006-2011 FRONT RIGHT 
LOWER

51220SWAA01

Only
2010-2011

EU Market

HONDAADAPTABLE FORTEKNOROT REF NO  H-555

SUSPENSION BALL JOINT

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V III 2006-2011 FRONT LEFT 
LOWER

51230SWAA01

Only
2010-2011

Weight: 718 gr.  Lenght: 82.6 mm..



8www.teknorot.com

APRIL’ 18

HYUNDAI

Weight : 628 gr.  

ADAPTABLE FORTEKNOROT REF NO  HY-374

LATERAL ARM

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

I30 FD 2007-2011 REAR LOWER 552502H000

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 869
CONTROL ARM 

BUSHING
REAR LOWER PART OF 552502H000

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 869
CONTROL ARM 

BUSHING
REAR LOWER PART OF 552502H000

KIA

Weight : 628 gr.  

ADAPTABLE FORTEKNOROT REF NO  HY-374

LATERAL ARM

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CEE’D I 2006-2012 REAR LOWER 552501H000



9www.teknorot.com

APRIL’ 18

HYUNDAI

Weight: 530 gr.  B (Bolt metric): M10X1,25  C (Housing Metric): M16X1,5  Lenght: 120 mm.

ADAPTABLE FORTEKNOROT REF NO  HY-621

STEERING TIE ROD END

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ELANTRA AD 2016- FRONT RIGHT 56825F2000

HYUNDAI 

Weight: 530 gr.  B (Bolt metric): M10X1,25  C (Housing Metric): M16X1,5  Lenght: 120 mm.

ADAPTABLE FORTEKNOROT REF NO  HY-622

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ELANTRA AD 2016- FRONT LEFT 56820F2000

STEERING TIE ROD END

HYUNDAI

Weight: 385 gr.  B (Bolt metric): M12X1,25  Lenght: 130 mm.

ADAPTABLE FORTEKNOROT REF NO  HY-656

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GENESIS BH 2008-2014 FRONT RIGHT 548403M000

SUSPENSION STABILIZER BAR LINK



10www.teknorot.com

APRIL’ 18

JAGUAR

Weight : 2150 gr.  

ADAPTABLE FORTEKNOROT REF NO  JA-406

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

XF CC9 2008-2015 FRONT LOWER C2Z10052

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

HYUNDAI

Weight: 385 gr.  B (Bolt metric): M12X1,25  Lenght: 130 mm.

ADAPTABLE FORTEKNOROT REF NO  HY-657

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GENESIS BH 2008-2014 FRONT LEFT 548303M000

SUSPENSION STABILIZER BAR LINK

JAGUAR

Weight: 390 gr.  B (Bolt metric): M12X1,75  Lenght: 220 mm.

ADAPTABLE FORTEKNOROT REF NO  JA-507

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

F-PACE I 2015- REAR T4A2038



11www.teknorot.com

APRIL’ 18

JEEP

Weight: 490 gr.  B (Bolt metric): M10X1,25  Lenght: 259 mm.

ADAPTABLE FORTEKNOROT REF NO  JE-320

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CHEROKEE KL 2014- FRONT 68224732AC

JEEP

Weight: 380 gr.  B (Bolt metric): M10X1,25  Lenght: 123 mm.

ADAPTABLE FORTEKNOROT REF NO  JE-326

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CHEROKEE KL 2014- REAR RIGHT 68224850AE

JEEP

Weight: 380 gr.  B (Bolt metric): M10X1,25  Lenght: 123 mm.

ADAPTABLE FORTEKNOROT REF NO  JE-327

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CHEROKEE KL 2014- REAR LEFT 68224851AE



12www.teknorot.com

APRIL’ 18

KIA

Weight: 420 gr. B (Bolt metric): M12X1,25  Lenght: 282 mm.

ADAPTABLE FORTEKNOROT REF NO  KI-421

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SPORTAGE SL 2010-2015 FRONT 548302S500

RUSSIAN Market
2014-2015

MERCEDES-BENZ

Weight : 2282 gr.  

ADAPTABLE FORTEKNOROT REF NO  M-772

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

4MATIC

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C-CLASS W204 2007-2013 FRONT RIGHT 
LOWER REARWARD 2043309111 - 2043307411

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 757
CONTROL ARM 

BUSHING
FRONT LOWER 

REARWARD
PART OF 

043309111 - 2043307411



13www.teknorot.com

APRIL’ 18

MERCEDES-BENZ

Weight : 2282 gr.  

ADAPTABLE FORTEKNOROT REF NO  M-773

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C-CLASS W204 2007-2013 FRONT LEFT
 LOWER REARWARD 2043309011 - 2043307311

4MATIC

MERCEDES-BENZ

Weight : 1600 gr.  

ADAPTABLE FORTEKNOROT REF NO  M-978

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

S-CLASS W222, V222, 
X222 2014- FRONT RIGHT 

UPPER
2173304000

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1049
CONTROL ARM 

BUSHING
FRONT UPPER PART OF 2173304000

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 757
CONTROL ARM 

BUSHING
FRONT LOWER 

REARWARD
PART OF 

043309111 - 2043307411



14www.teknorot.com

APRIL’ 18

MAZDA

Weight: 250 gr.  B (Bolt metric): M10X1,25  Lenght: 176 mm.

ADAPTABLE FORTEKNOROT REF NO  MA-530 

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

XEDOS 9 TA 1993-2003 REAR T00128170B

MERCEDES-BENZ

Weight : 1600 gr.  

ADAPTABLE FORTEKNOROT REF NO  M-979

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

S-CLASS W222, V222, 
X222 2014- FRONT LEFT 

UPPER
2173303900

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1049
CONTROL ARM 

BUSHING
FRONT UPPER PART OF 2173303900



15www.teknorot.com

APRIL’ 18

OPEL

Weight : 579 gr.

ADAPTABLE FORTEKNOROT REF NO  O-468

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ASTRA H 2004-2012 FRONT 93191526

NISSAN

Weight: 650 gr.  B (Bolt metric): M12X1,25  Lenght: 308 mm.

ADAPTABLE FORTEKNOROT REF NO  N-667

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ALTIMA L31 2001-2006 FRONT LEFT 546688J000

TRW
Steering

NISSAN

Weight: 650 gr.  B (Bolt metric): M12X1,25  Lenght: 308 mm.

ADAPTABLE FORTEKNOROT REF NO  N-666

SUSPENSION STABILIZER BAR LINK

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ALTIMA L31 2001-2006 FRONT RIGHT 546188J000



16www.teknorot.com

APRIL’ 18

PEUGEOT

Weight: 4420 gr.

ADAPTABLE FORTEKNOROT REF NO  P-698

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

PEUGEOT

Weight: 4420 gr.

ADAPTABLE FORTEKNOROT REF NO  P-699

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

3008 II 2016- FRONT RIGHT 9816865480

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 936
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 9816865480 - 9816865580

SB 1043
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 9816865480 - 9816865580

CI-365 BALL JOINT FRONT LOWER PART OF 9816865480 - 9816865580

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 936
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 9816865480 - 9816865580

SB 1043
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 9816865480 - 9816865580

CI-365 BALL JOINT FRONT LOWER PART OF 9816865480 - 9816865580

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

3008 II 2016- FRONT LEFT 9816865580



17www.teknorot.com

APRIL’ 18

NISSAN

Weight: 547 gr.  B (Bolt metric): M14X1,5   C (Housing Metric): M16X1,5  Lenght: 213 mm.

ADAPTABLE FORTEKNOROT REF NO  R-183

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

QASHQAI II  (J11) 2014- FRONT 485212518R

RENAULT

Weight: 547 gr.  B (Bolt metric): M14X1,5   C (Housing Metric): M16X1,5  Lenght: 213 mm.

ADAPTABLE FORTEKNOROT REF NO  R-183

STEERING TIE ROD

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

KADJAR I 2015- FRONT 485212518R



18www.teknorot.com

APRIL’ 18

RENAULT

Weight : 5300 gr.

ADAPTABLE FORTEKNOROT REF NO  R-938

SUSPENSION CONTROL ARM AND
 BALL JOINT ASSEMBLY

RENAULT

Weight : 5300 gr.

ADAPTABLE FORTEKNOROT REF NO  R-939

SUSPENSION CONTROL ARM AND
 BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN I 2015- FRONT RIGHT 545047275R

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

 - SB 1023
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 545047275R - 545050303R

SB 1083
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 545047275R - 545050303R

R-935 BALL JOINT FRONT LOWER PART OF 545047275R - 545050303R

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN I 2015- FRONT LEFT 545050303R

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

 - SB 1023
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 545047275R - 545050303R

SB 1083
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 545047275R - 545050303R

R-935 BALL JOINT FRONT LOWER PART OF 545047275R - 545050303R



19www.teknorot.com

APRIL’ 18

VOLKSWAGEN

Weight : 870 gr.

ADAPTABLE FORTEKNOROT REF NO  SB 1014

LATERAL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GOLF MK7/MQB 2012- REAR LOWER 
FORWARD INNER

Part of 5Q0501529C

SEAT

Weight : 870 gr.

ADAPTABLE FORTEKNOROT REF NO  SB 1014

LATERAL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

LEON (5F1) 2012- REAR LOWER 
FORWARD INNER

Part of 5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

V-586 LATERAL ARM
REAR LOWER 

FORWARD
5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

V-586 LATERAL ARM
REAR LOWER 

FORWARD
5Q0501529C



20www.teknorot.com

APRIL’ 18

AUDI

Weight : 870 gr.

ADAPTABLE FORTEKNOROT REF NO  SB 1014

LATERAL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

A3 8V1 2012- REAR LOWER 
FORWARD INNER

Part of 5Q0501529C

SEAT

Weight: 870 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1015

LATERAL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

LEON (5F1) 2012- REAR LOWER 
FORWARD OUTER Part of 5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

V-586 LATERAL ARM
REAR LOWER 

FORWARD
5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

V-586 LATERAL ARM
REAR LOWER 

FORWARD
5Q0501529C



21www.teknorot.com

APRIL’ 18

VOLKSWAGEN

Weight: 870 gr. 

ADAPTABLE FORTEKNOROT REF NO  SB 1015

LATERAL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GOLF MK7/MQB 2012- REAR LOWER 
FORWARD OUTER Part of 5Q0501529C

AUDI

Weight: 870 gr. 

ADAPTABLE FORTEKNOROT REF NO  SB 1015

LATERAL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

A3 8V1 2012- REAR LOWER
FORWARD OUTER Part of 5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

V-586 LATERAL ARM
REAR LOWER 

FORWARD
5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

V-586 LATERAL ARM
REAR LOWER 

FORWARD
5Q0501529C



22www.teknorot.com

APRIL’ 18

RENAULT

Weight: 266 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1023

CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN I 2015- FRONT INNER
Part of 545047275R 
Part of 545050303R

RENAULT

Weight : 355 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1083

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN I 2015- FRONT OUTER
Part of 545047275R
Part of 545050303R

CONTROL ARM BUSHING

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

R-938 CONTROL ARM
FRONT RIGHT 

LOWER
545047275R

R-939 CONTROL ARM
FRONT LEFT 

LOWER
545050303R

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

R-938 CONTROL ARM
FRONT RIGHT 

LOWER
545047275R

R-939 CONTROL ARM
FRONT LEFT 

LOWER
545050303R



23www.teknorot.com

APRIL’ 18

PEUGEOT

Weight : 251 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1043

CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

3008 II 2016- FRONT OUTER
Part of 9816865480
Part of 9816865580

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

P-698 CONTROL ARM
FRONT RIGHT 

LOWER
9816865480

P-699 CONTROL ARM
FRONT LEFT 

LOWER
9816865580

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

P-698 CONTROL ARM
FRONT RIGHT 

LOWER
9816865480

P-699 CONTROL ARM
FRONT LEFT 

LOWER
9816865580

PEUGEOT

Weight : 220 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 936

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

3008 II 2016- FRONT INNER
Part of 9816865480
Part of 9816865580

CONTROL ARM BUSHING



24www.teknorot.com

APRIL’ 18

FORD

Weight : 1301 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1066

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRANSIT CONNECT II europe made 2013- FRONT RIGHT 
LOWER OUTER

Part of DV613A423AF

CONTROL ARM BUSHING

FORD

Weight : 1301 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1082

CONTROL ARM BUSHING

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

FO-808 CONTROL ARM
FRONT RIGHT 

LOWER
DV613A423AF

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

FO-809 CONTROL ARM
FRONT LEFT 

LOWER OUTER
DV613A424AF

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRANSIT CONNECT II europe made 2013- FRONT LEFT 
LOWER OUTER

Part of DV613A424AF



25www.teknorot.com

APRIL’ 18

MERCEDES-BENZ

Weight : 180 gr.  

ADAPTABLE FORTEKNOROT REF NO  SB 1049

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

S-CLASS W222, V222, 
X222 2014- FRONT UPPER

Part of 2173304000
Part of 2173303900

CONTROL ARM BUSHING

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA 2003-2008 FRONT RIGHT 
LOWER

4806802021

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

M-978 CONTROL ARM
FRONT RIGHT

UPPER
2173304000

M-979 CONTROL ARM
FRONT LEFT

UPPER
2173303900



26www.teknorot.com

APRIL’ 18

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SU-405 BALL JOINT FRONT LOWER PART OF 20202FJ010 - 20202FJ000

SUBARU 

Weight: 3460 gr.  

ADAPTABLE FORTEKNOROT REF NO  SU-238

SUSPENSION CONTROL ARM AND 
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

IMPREZA 3rd Gen 2007-2014 FRONT RIGHT 
LOWER

20202FJ000 

SUBARU 

Weight: 3142 gr.  

ADAPTABLE FORTEKNOROT REF NO  SU-238S

SUSPENSION CONTROL ARM

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

IMPREZA 3rd Gen 2007-2014 FRONT RIGHT 
LOWER

20202FJ000



27www.teknorot.com

APRIL’ 18

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SU-405 BALL JOINT FRONT LOWER
PART OF 20202FJ010 
PART OF 20202FJ000 

SUBARU 

Weight: 3460 gr.  

ADAPTABLE FORTEKNOROT REF NO  SU-239

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

IMPREZA 3rd Gen 2007-2014 FRONT LEFT 
LOWER

20202FJ010 

SUBARU 

Weight: 3142 gr.  

ADAPTABLE FORTEKNOROT REF NO  SU-239S

SUSPENSION CONTROL ARM

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

IMPREZA 3rd Gen 2007-2014 FRONT LEFT 
LOWER

20202FJ010



28www.teknorot.com

APRIL’ 18

Weight : 790 gr.  Lenght : 88,6 mm.

ADAPTABLE FORTEKNOROT REF NO  T-665

SUSPENSION BALL JOINT

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PRIUS XW20 2003-2009 FRONT LOWER 4333049055

TOYOTA

Weight : 3966 gr.

ADAPTABLE FORTEKNOROT REF NO  T-678

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

TOYOTA

USA 
MARKET

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA 2003-2008 FRONT RIGHT 
LOWER

4806802021

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 457
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 4806802021 - 4806902021

SB 458
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 4806802021 - 4806902021

T-605 BALL JOINT FRONT LOWER PART OF 4806802021 - 4806902021



29www.teknorot.com

APRIL’ 18

Weight: 3256 gr.

ADAPTABLE FORTEKNOROT REF NO  T-678S

SUSPENSION CONTROL ARM

TOYOTA

USA 
MARKET

Weight : 3966 gr.

ADAPTABLE FORTEKNOROT REF NO  T-679

SUSPENSION CONTROL ARM AND
BALL JOINT ASSEMBLY

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA 2003-2008 FRONT LEFT 
LOWER

4806902021

TOYOTA

USA 
MARKET

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 457
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 4806802021 - 4806902021

SB 458
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 4806802021 - 4806902021

T-605 BALL JOINT FRONT LOWER PART OF 4806802021 - 4806902021

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA 2003-2008 FRONT RIGHT 
LOWER

4806802021

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 457
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 4806802021 - 4806902021

SB 458
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 4806802021 - 4806902021



30www.teknorot.com

APRIL’ 18

Weight : 3256 gr.

ADAPTABLE FORTEKNOROT REF NO  T-679S

SUSPENSION CONTROL ARM

TOYOTA

Weight : 566 gr.

ADAPTABLE FORTEKNOROT REF NO  V-586

LATERAL ARM

VOLKSWAGEN

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA 2003-2008 FRONT LEFT 
LOWER

4806902021

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GOLF MK7/MQB 2012- REAR LOWER 
FORWARD

5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1014
CONTROL ARM 

BUSHING
REAR LOWER 

FORWARD INNER
PART OF 5Q0501529C

SB 1015
CONTROL ARM 

BUSHING
REAR LOWER 

FORWARD OUTER
PART OF 5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 457
CONTROL ARM 

BUSHING
FRONT LOWER 

OUTER
PART OF 4806802021 - 4806902021

SB 458
CONTROL ARM 

BUSHING
FRONT LOWER 

INNER
PART OF 4806802021 - 4806902021

USA 
MARKET



31www.teknorot.com

APRIL’ 18

Weight : 566 gr.

ADAPTABLE FORTEKNOROT REF NO  V-586

LATERAL ARM

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

LEON (5F1) 2012- REAR LOWER 
FORWARD

5Q0501529C

SEAT

Weight : 566 gr.

ADAPTABLE FORTEKNOROT REF NO  V-586

LATERAL ARM

AUDI

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

A3 8V1 2012- REAR LOWER 
FORWARD

5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1014
CONTROL ARM 

BUSHING
REAR LOWER 

FORWARD INNER
PART OF 5Q0501529C

SB 1015
CONTROL ARM 

BUSHING
REAR LOWER 

FORWARD OUTER
PART OF 5Q0501529C

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1014
CONTROL ARM 

BUSHING
REAR LOWER 

FORWARD INNER
PART OF 5Q0501529C

SB 1015
CONTROL ARM 

BUSHING
REAR LOWER 

FORWARD OUTER
PART OF 5Q0501529C


